60um Replicate 1
3 4 5

1 2
- r=0.915 r=0.907 r=0.905
. @ f=0s5s  r-o00s
) f‘ E o
g e
. 1
< b ool v 1
. 1
g e -
1 1 . 1
] 2 1 1 & 1
" I R

r=0.906
r=20.95

r=0.959
r=0.961

6
$s i
i S .

60um Replicate 2
3 4 5

1
- r=0.945 r=0.934 r=0.93 r=0.933
~ w r=0.959 r=0.956 r=0.954
o
T — ” . .
- n ] r=0.965 r=0.958
- 1
Y . . 1
< b ] ] r=0.962
4 3 " 3
n S s | t |
1 1 1
00 ul A ol i ol
K] k| 4 ° 1 .
© e . o 1 1 Py
2 ] S ] .
1 2 3 4 5
- r=0.949 r=0.951 r=0.95 r=0.939
~ r=0.949 r=0.947 r=0.939
" ] r r=0.962 r=0.939
. ‘
> 1 1 1
n Y 9 1 2 3 . 1 1
X (XS o
. . 4 .2
© e " 2 A .
> s 3

6
r=0.9
r=0.921
r=0.919
r=0.917
r=0.928

6
r=0.928
r=0.95
r=0.954
r=0.957
r=0.957

6
r=0.93
r=0.928
r=0.929
r=0.936
r=0.944



